LSHY

ls
w 2 L
B (K) L1 1K)
4-S F
goe
T T T
@ i ik f ‘1’1 = = iio
T h__ 1] .
M @%%ET | Eeoea o ¢ s T3 P
¢ di
1
Wi (K) Lo (K)
TBEERST
A BA | BE | BE | KE
LINES
1712 M ] L T L K) B F SX{
ls +0.25 | £0.25
LS 827 13 8 14.2 | 28.7 | 7.6 27 0.85 | 5.5 16 M2X 3
LS 852 25 8 14.2 | 53.7 | 7.6 52 0.85 | 5.5 41 M2X 3
LS 877 50 8 14.2 | 8.7 | 7.6 77 0.85 | 55 66 M2X3
LS 1027 13 10 19 28.7 | 9.2 27 0.85 | 8.5 16 M3X3.5
LS 1052 25 10 19 53.7 | 9.2 52 0.85 | 8.5 41 M3X3.5
LS 1077 50 10 19 78.7 | 9.2 77 0.85 | 8.5 66 M3X3.5

B HAEX THIBERARSTFE A
NFRELS KGR

[N9-10 ArAIKK

https://tech.thk.com




@)
© —°
_|
@)
iﬁ‘[ Iomm
HEERST BSEITNIRE® EARFE BT RE
EE S =E KE
Ma, Mg Mc C Co
W H di Xd;Xh Lo fi
Nem Nem N N g
6.2 4.7 2.2X3.9X1.4 27 19 0.2 0.29 39.2 68.6 9
6.2 4.7 2.2X3.9X1.4 52 85} 0. 49 0.39 68. 6 118 15
6.2 4.7 2.2X3.9X1.4 77 60 0.88 0.59 98 167 21
9.6 6.2 3.3X6X3.1 27 19 0.29 0.59 58.8 108 13
9.6 6.2 3.3X6X3.1 52 35 0.78 1.08 108 186 23
9.6 6.2 3.3X6X3.1 77 60 1.47 1.57 157 275 34
) BRI MM 53 Rl F R AN EE BT R B (E
THE  E9-11

Uy HE .





